



Republic of the Philippines Department of Agriculture BUREAU OF SOILS AND WATER MANAGEMENT SRDC Building Elliptical Road corner Visayas Avenue, Diliman, Quezon City 1101 customers.center@bswm.da.gov.phTel. no. (632) 8273-2474 local 3202

BSWM-BIDS AND AWARDS COMMITTEE SUPPLEMENTAL BID BULLETIN NO. 2

CONTRACT: Supply and Delivery of various Agricultural Inputs, Supplies and Materials for FY 2025 (Batch 2) IB No. BSWM 2025-03-

This Addendum is being issued in accordance with Section 22.5.2 of the IRR of RA 9184, to clarify and modify some provisions of the Bidding Document. THIS SHALL FORM AN INTEGRAL PART OF THE BID DOCUMENT.

AMENDMENTS OF THE BIDDING DOCUMENT:

	ORIGINAL		AMENDED					
Secti	ion I. Invitation to Bid		Section I. Invitation to Bid					
1.	The Bureau of Soils Management (BSWM), General Appropriation Act (Continuing) and CY 202 apply the sum of:		1. The Bureau of Soils and Water Management (BSWM), through the General Appropriation Act for CY 2024 (Continuing) and CY 2025 intends to apply the sum of:					
LOT	DESCRIPTION	ABC	LOT	DESCRIPTION	ABC			
1	COMPOSTS, ORGANIC FERTILIZERS, PESTICIDES AND AMELIORANTS	6,254,770.00	1	COMPOSTS, ORGANIC FERTILIZERS, PESTICIDES AND AMELIORANTS	6,442,870.00			
2	BIOFERTILIZERS AND INORGANIC FERTILIZERS	7,259,803.00	2	BIOFERTILIZERS AND INORGANIC FERTILIZERS	7,259,803.00			
	SEEDS, SEEDLINGS AND OTHER PLANTING		3	SEEDS, SEEDLINGS AND OTHER PLANTING MATERIALS	29,686,650.00			
3	MATERIALS GRAND TOTAL	29,932,650.00 43,447,223.00		VARIOUS AGRI INPUTS AND SUPPLIES FOR NSWRRDC-	044 500 00			
			4	HILLPEZ TANAY RIZAL GRAND TOTAL	911,500.00			
acquir 3:00P upon Docur Lot 1- Lot 2-	aplete set of Bidding Documented by interested Bidders until M from the given address and payment of the applicable feements: PhP 6,000.00 PhP 7,000.00 PhP 12,000.00	il April 21, 2025 I website and	by int from to of the Lot 1- Lot 2- Lot 3-	plete set of Bidding Documents erested Bidders until April 23, the given address and website a applicable fee for the Bidding EPhP 6,000.00 PhP 7,000.00 PhP 12,000.00 PhP 900.00	2025 3:00PM and upon payment			
the B Bldg., Quezo video strear	pening shall be on April 22, 20 SWM Convention Hall, 2nd Visayas Ave. Cor. Elliptical Fon City and conferencing/webcasting via med live through BSWM ce FB Page	Floor, SRDC Road, Diliman, through a ZOOM and	Bid opening shall be on April 24, 2025, 9:30AM at the BSWM Convention Hall, 2nd Floor, SRDC Bldg., Visayas Ave. Cor. Elliptical Road, Diliman, Quezon City and through videoconferencing/webcasting via ZOOM and streamed live through BSWM Procurement Service FB Page					

ORIGINAL	AMENDED					
Bids must be duly received by the BAC Secretariat through manual submission at the office address indicated below on or before April 22, 2025, 9:00AM.	Bids must be duly received by the BAC Secretariat through manual submission at the office address indicated below on or before April 24, 2025, 9:00AM .					
	Revised Section VII. Technical Specifications (See Annex A of this Bid Bulletin)					

For guidance and information of all concerned.

Digitally signed by Solano

DENISE A. SOLANO
BAC Chairperson.

The solution of the solution of



ANNEX A.

Revised Section VII. Technical Specifications

Lot 1: COMPOSTS, ORGANIC FERTILIZERS, PESTICIDES AND AMELIORANTS

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
COMPOSTS, OF					
2025-01-0203	SWRRD	Vermicompost/Vermicast, 40kg/bag	75	bag	
2025-01-0203	SWRRD	Organic pesticide, neem oil, FPA/BAFS registered 1L	60	bot	
2025-01-0203	SWRRD	Carbonized rice hull, 15kg/bag	75	bag	
		Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon			
2025-03-0688	SWRRD	Zeolite 25 kg	1	bag	
		Place of Delivery: BSWM, Quezon City Delivery Date: June 2025			
2025-03-0688	SWRRD	Vermicompost/Vermicast, 40kg/bag	4	bag	
2025-03-0688	SWRRD	Carbonized rice hull, 15kg/bag	4	bag	
		Place of Delivery: BSWM, Quezon City Delivery Date: June 2025			
2025-01-0202	LUPEZ	Certified Organic Fertlizer (COF); (50kg/bag)	30	bags	
2025-01-0202	LUPEZ	Compost Enhancer	10	packs	
		Date of Delivery: 2nd Week of May 2025			
		Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M			
		CAR			
		CORN			
2025-03-0690	NSHP	Compost or Organic Fertilizer at least 40kgs/bag	100	bags	
		RICE			
2025-03-0690	NSHP	Compost or Organic Fertilizer at least 40kgs/bag	1000	bags	
		Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025			
		REGION I			

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
		CORN			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
		Place of Delivery: Aringay, La Union Delivery Date: On or before November 28, 2025			
		REGION III			
		CORN			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
		Place of Delivery: Mexico, Pampanga Delivery Date: On or before November 28, 2025			
		RICE			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	
		Place of Delivery: Guimba, Nueva Ecija Delivery Date: On or before November 28, 2025			
		REGION IV-A			
		CORN			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
		Place of Delivery: Tayabas, Quezon Delivery Date: On or before November 28, 2025			
		RICE			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	
		Place of Delivery: Sta. Maria, Laguna Delivery Date: On or before November 28, 2025			
		DECION IV D			
		REGION IV-B CORN			
		Compost or Organic Fertilizer			
2025-03-0690	NSHP	- at least 40kgs/bag	100	bags	
		Place of Delivery: Abra De Ilog, Occidental Mindoro Delivery Date: On or before November 28, 2025			
		REGION V			
		CORN			

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
		Compost or Organic Fertilizer			
2025-03-0690	NSHP	- at least 40kgs/bag	480	bags	
		Place of Delivery: Cataingan, Masbate Delivery Date: On or before November 28, 2025			
		RICE			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	1000	bags	
		Place of Delivery: Polangui, Albay Delivery Date: On or before November 28, 2025			
		REGION IX			
		CORN			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
		Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025			
		REGION X (CORN)			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
		Place of Delivery:Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025			
		REGION XI (RICE)			
		Compost or Organic Fertilizer			
2025-03-0690	NSHP	- at least 40kgs/bag	2000	bags	
		Place of Delivery: Kapalong, Davao Del Norte (1000 bags), Sto. Tomas, Davao Del Norte (1,000 bags) Delivery Date: On or before November 28, 2025			
		REGION XII (RICE)			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	
		Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025			
		REGION XIII (CORN)			
		Compost or Organic Fertilizer - at least			
2025-03-0690	NSHP	40kgs/bag	100	bags	
		Place of Delivery: Esperanza, Agusan Del Sur			

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
		Delivery Date: On or before November 28, 2025			
		BARMM (CORN)			
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	
		Place of Delivery:Datu Hoffer, Maguindanao del Sur Delivery Date: On or before November 28, 2025			
Important Not	e				
For Compost	or Organic I	Fartilizer items indicated in Lot 1:			

For Compost or Organic Fertilizer items indicated in Lot 1:

At least 5% of the total quantity should be produced by beneficiaries of a Compost Facility for Biodegradable Waste (CFBW) and a Small Scale Composting Facility (SSCF).

A list of beneficiaries will be provided by BSWM; Compost fertilizers shall undergo sample testing upon delivery by the winning bidder, and the results of the analysis will be checked during inspection. Testing will be shouldered by NSHP through the Regional Soils Laboratories and/or the Bureau of Soils and Water management;

A certification (certification, agreement or any equivalent document) verifying that the compost fertilizer originates from CFBW and SSCF beneficiaries must be presented during inspection.

The remaining quantity shall consist of either organic fertilizer duly certified by BAFS or fortified organic fertilizers certified by FPA. A copy of the certificates must be presented during post qualification and inspection.

By virtue of the Organic Agriculture Law, all soil amendments with organic claims (e.g. "Organic Fertilizer") must be DA-BAFPS registered. Soil amendments with organic claims can only be registered by DA-BAFPS if it has passed certification by third-party officially accredited Organic Certifying Bodies (OCBs).

List of local OCBs: https://bafs.da.gov.ph/index.php/official-list-of-accredited-third-party-organic-certifying-bodies/

List of international OCBs: https://directory.ifoam.bio/certifiers

List of registered organic soil amendment products:

https://bafs.da.gov.ph/index.php/registered-organic-soil-amendment-products/

List of local organic soil amendment producers: https://bafs.da.gov.ph/index.php/registered-

organic-soil-amendment-producers/

LOT 2: BIOFERTILIZERS AND INORGANIC FERTILIZERS

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance	
BIOFERTILIZERS A	BIOFERTILIZERS AND INORGANIC FERTILIZERS					
2025-01-0203	SWRRD	Muriate of Potash (0-0-60), 50kg/bag	120	bag		
2025-01-0203	SWRRD	Ammonium sulfate (21-0-0), 50 kg/bag	90	bag		
2025-01-0203	SWRRD	Agricultural grade salt fertilizer	45	bag		
2025-01-0203	SWRRD	Ammonium phosphate (16-20-0), 50 kg/ bag	15	bag		
2025-01-0203	SWRRD	Biofertilizer, mycorrhizal inoculant, Locally- produced, FPA/BAFS registered, 1kg/pack, Expiration date not earlier than January 2026	30	pack		

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
		Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon			
2025-01-0202	LUPEZ	Complete (14-14-14), 50kgs/bag	28	bags	
2025-01-0202	LUPEZ	Urea (46-0-0), 50kgs/bag, Granular	10	bags	
2025-01-0202	LUPEZ	Muriate of Potash (0-0-60), 50kg/bag	10	bags	
2025-01-0202	LUPEZ	Biofertilizer (Mychorriza Fungi)	50	packs	
2025-01-0202	LUPEZ	Biofertilizer (Nitrogen Fixing Bacteria)	20	packs	
2025-01-0202	LUPEZ	Calicum Nitrate Fertilizer	50	kg	
		Date of Delivery: 2nd Week of May 2025			
		Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M			
		BARMM (RICE)			
2025-03-0566	LSD	Complete (14-14-14), 50kgs/bag	816	bags	
2025-03-0566	LSD	Urea (46-0-0), 50kgs/bag, Granular	800	bags	
2025-03-0566	LSD	Muriate of Potash (0-0-60), 50kg/bag	200	bags	
2025-03-0566	LSD	Ammonium phosphate (16-20-0), 50 kg/bag	900	bags	
2025-03-0566	LSD	Urea (46-0-0), 50 kg/ bag	276	bags	
2025-03-0566	LSD	Muriate of Potash (0-0-60), 50 kg/ bag	300	bags	
		Place of Delivery: Shariff Saydona Mustapha, Maguindanao del Norte Delivery Date: On or before November 28, 2025			
		REGION II (CORN)			
2025-03-0566	LSD	Ammonium phosphate (16-20-0), 50 kg/bag	450	bags	
2025-03-0566	LSD	Urea (46-0-0), 50 kg/ bag	138	bags	
2025-03-0566	LSD	Muriate of Potash (0-0-60), 50 kg/ bag	150	bags	
		Place of Delivery: Luna, Isabela Delivery Date: On or before November 28, 2025		J	
Important No	ote	1			
offered items n products: https://fpa.da.g	nust be genu ov.ph/resou	ofertilizers/pesticides; uine and included in the latest list of FPA r rces/reports/registered-products/ must be presented during postqualification			

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
SEEDS, SEEDLINGS	AND OT	HER PLANTING MATERIALS			
2025-01-0203	SWRRD	Pole sitao seeds, Pantastiko variety, 1 kg/pack	2	pack	
2025-01-0203	SWRRD	Squash seeds, Suprema variety, 50g/can	40	can	
2025-01-0203	SWRRD	Okra seeds, Smooth Green variety, 100g/can	5	can	
2025-01-0203	SWRRD	Chili pepper, Django variety, 25g/can	20	can	
2025-01-0203	SWRRD	Eggplant seeds, Mucho variety, 50g/can	10	can	
2025-01-0203	SWRRD	Ampalaya seeds, Mestisa variety, 50g/can	20	can	
2025-01-0203	SWRRD	Banana seedlings, Cardaba	30	рс	
2025-01-0203	SWRRD	Papaya seedlings, Red lady	60	рс	
2025-01-0203	SWRRD	Cacao tree seedlings	60	рс	
2025-01-0203	SWRRD	Citrus tree seedlings	360	рс	
2025-01-0203	SWRRD	Guyabano tree seedlings	30	рс	
2025-01-0203	SWRRD	Lanzones tree seedlings	60	рс	
2025-01-0203	SWRRD	Rambutan tree seedlings	30	рс	
2025-01-0203	SWRRD	Calamansi tree seedlings	210	рс	
		Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon			
		Note: Fruit tree seedlings, in 9x13" seedling bag, 2-3 ft ht., stem diameter > 1cm			
2025-03-0688	SWRRD	Citronella Planting Material	25	рс	
2025-03-0688	SWRRD	Rinorea niccolifera planting material	10	рс	
		Place of Delivery: BSWM, Quezon City Delivery Date: June 2025			
2025-02-0240	SWRRD	Garlic cloves, No.1 -planting material -free from diseases and mechanical damage -fully developed & mature bubls	4720	kg	
		Delivery date: 2nd week of October, 2025. Delivery Place: MMSU Batac, Ilocos Norte (400kg); Brgy. Susugaen, Pasuquin, Ilocos Norte (The rest).			
2025-01-0202	LUPEZ	vegetable seedlings (hot pepper) 128 cells per tray, seedlings 28-30 day old	80	trays	
2025-01-0202	LUPEZ	vegetable seedlings (eggplant) 128 cells per tray, seedlings 28-30 day old	80	trays	
		Date of Delivery: 2nd Week of May 2025			

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
		Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M			
		BARMM			
		RICE			
2025-03-0566	LSD	Hybrid Rice Seeds, 15 kgs/bag, high-yielding variety suitable for the region	200	bags	
		Place of Delivery: Shariff Saydona Mustapha, Maguindanao del Sur Delivery Date: On or before November 28, 2025			
		CORN			
2025-03-0566	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	200	bags	
		Place of Delivery:Datu Hoffer, Maguindanao del Sur Delivery Date: On or before November 28, 2025			
		REGION II			
		CORN			
2025-03-0566	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	300	bags	
		Place of Delivery: Luna, Isabela Delivery Date: On or before November 28, 2025			
2025 02 0566	165	CAR	100		
2025-03-0566	LSD	Seeds, corn, yellow, at least 9kgs/bag Variety: DK 8282s	180	bags	
		Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025			
		CAR (CORNI)			
2025 02 0600	ICD	CAR (CORN)	20	hags	
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 8282s	20	bags	
		Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025			
		REGION I			
		CORN			

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 6919s	170	bags	
		Place of Delivery: Santa Cruz, Ilocos Sur(70 bags) Aringay, La Union (100 bags) Delivery Date: On or before November 28, 2025			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 6919s	30	bags	
		Place of Delivery: Aringay, La Union Delivery Date: On or before November 28, 2025			
		REGION III (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: NK6410 VIP	200	bags	
		Place of Delivery: Moncada, Tarlac (50 bags), Concepcion, Tarlac (50 bags), Mexico, Pampanga (100 bags) Delivery Date: On or before November 28, 2025			
		REGION IV-A (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: NK6410 VIP	200	bags	
		Place of Delivery: Tayabas, Quezon Delivery Date: On or before November 28, 2025			
		25000111/2 (00211)			
		REGION IV-B (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	200	bags	
		Place of Delivery: Abra De Ilog, Occidental Mindoro Delivery Date: On or before November 28, 2025			
		REGION VI (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	180	bags	
		Place of Delivery: Tapaz, Capiz Delivery Date: On or before November 28, 2025			
		22001111/02221			
		REGION IX (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8131S	200	bags	
		Place of Delivery: Bayog, Zamboanga Del Sur			

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
		Delivery Date: On or before November 28, 2025			
		REGION X (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8131S	200	bags	
		Place of Delivery:Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025			
		REGION XI (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	180	bags	
		Place of Delivery: Kapalong, Davao Del Norte Delivery Date: On or before November 28, 2025			
		REGION XII (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	180	bags	
		Place of Delivery: Bagumbayan, Sultan Kudarat Delivery Date: On or before November 28, 2025			
		REGION XIII (CORN)			
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: P3585YHR	200	bags	
		Place of Delivery: Ezperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025			

LOT 4: VARIOUS AGRI INPUTS AND SUPPLIES FOR NSWRRDC HILIPEZ, TANAY, RIZAL

at least 40 kg/sack 225 sack 2023-03-0599 HILLPEZ Urea (46-0-0), 50 kg/bag 5 bag 2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Sokg/bag Delivery Requirement: Majayjay, Laguna, 1st week of May 2025 (1st cropping) Chicken Manure, dried, pure at least 40 kg/sack 225 sack 225 sack 2223-03-0599 HILLPEZ Urea (46-0-0), 50 kg/bag 5 bag 2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping)	PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
Brgy. Cuyambay, Tanay, Rizal, 2nd	2023-03-0599	HILLPEZ	, , , , , , , , , , , , , , , , , , ,	90	sack	
at least 40 kg/sack			Brgy. Cuyambay, Tanay, Rizal, 2nd			
2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag Muriate of Potash (0-0-60), 3 bag Delivery Requirement: Majayjay, Laguna, 1st week of May 2025 (1st cropping) Chicken Manure, dried, pure at least 40 kg/sack 225 sack 2023-03-0599 HILLPEZ Urea (46-0-0), 50 kg/bag 5 bag 2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag Muriate of Potash (0-0-60), 50 kg/bag 2023-03-0599 HILLPEZ Solvent: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Lagun	2023-03-0599	HILLPEZ	· · ·	225	sack	
Muriate of Potash (0-0-60), Soky/bag Delivery Requirement: Majayjay, Laguna, 1st week of May 2025 (1st cropping) Laguna, 1st week of May 2025 (1st cropping) Delivery Requirement: Majayjay, Laguna, 1st week of May 2025 (1st cropping) Delivery Requirement: Majayjay, Laguna, 1st week of May 2025 (1st cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) D	2023-03-0599	HILLPEZ	Urea (46-0-0), 50 kg/bag	5	bag	
HILLPEZ SOkg/bag Delivery Requirement: Majayjay, Laguna, 1st week of May 2025 (1st cropping)	2023-03-0599	HILLPEZ	Complete (14-14-14), 50 kg/bag	10	bag	
Laguna, 1st week of May 2025 (1st cropping) 2023-03-0599 HILLPEZ Chicken Manure, dried, pure at least 40 kg/sack 225 sack 2023-03-0599 HILLPEZ Urea (46-0-0), 50 kg/bag 5 bag 2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Muriate of Potash (0-0-60), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Muriate of Potash (0-0-60), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Muriate of Potash (0-0-60), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Insecticide, 1 L/bottle, EC500, content-500 g/L Phenthoate and 426 g/L Solvent-Xylene 2023-03-0599 HILLPEZ Insecticide, 1 L/bottle, 25 EC, content-25 g/L Deltamethrin and 793 g/L Solvent-Solvesso 2023-03-0599 HILLPEZ Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl 2023-03-0599 HILLPEZ Insecticide, 100 mL/bottle, content-350 g/L imidacloprid in the form of suspension concentrate Eugricide 1 kg/box 80 WG active 10 box	2023-03-0599	HILLPEZ	, , , , , ,	3	bag	
HILLPEZ at least 40 kg/sack 225 sack			Laguna, 1st week of May 2025			
HILLPEZ at least 40 kg/sack 225 sack						
2023-03-0599 HILLPEZ Complete (14-14-14), 50 kg/bag 10 bag 2023-03-0599 HILLPEZ Solvents (0-0-60), 50 kg/bag Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Insecticide, 1 L/bottle, EC500, content-500 g/L Phenthoate and 426 g/L Solvent-Xylene Insecticide, 1 L/bottle, 25 EC, content-25 g/L Deltamethrin and 793 g/L Solvent-Solvesso Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Insecticide, 1 L/bottle, EC500, 10 bottle Deltamethrin and 793 g/L Solvent-Solvesso Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl Insecticide, 100 mL/bottle, 15 bottle Deltamethrin and 793 g/L imidacloprid in the form of suspension concentrate Fungicide, 1 kg/box, 80 WG, active 10 box	2023-03-0599	HILLPEZ		225	sack	
Muriate of Potash (0-0-60), 50kg/bag Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Insecticide, 1 L/bottle, EC500, content-500 g/L Phenthoate and 426 g/L Solvent-Xylene Insecticide, 1 L/bottle, 25 EC, content-25 g/L Deltamethrin and 793 g/L Solvent-Solvesso PillLPEZ Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl Insecticide, 100 mL/bottle, content-350 g/L imidacloprid in the form of suspension concentrate Fungicide, 1 kg/box, 80 WG, active, 10 box	2023-03-0599	HILLPEZ	Urea (46-0-0), 50 kg/bag	5	bag	
Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping) Insecticide, 1 L/bottle, EC500, content-500 g/L Phenthoate and 426 g/L Solvent-Xylene Insecticide, 1 L/bottle, 25 EC, content-25 g/L Deltamethrin and 793 g/L Solvent-Solvesso PHILLPEZ Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl Insecticide, 10 mL/bottle, content-350 g/L imidacloprid in the form of suspension concentrate Fungicide 1 kg/box, 80 WG, active 10 box	2023-03-0599	HILLPEZ	Complete (14-14-14), 50 kg/bag	10	bag	
Laguna, 1st week of October 2025 (2nd cropping) Insecticide, 1 L/bottle, EC500, content-500 g/L Phenthoate and 426 g/L Solvent-Xylene Insecticide, 1 L/bottle, 25 EC, content-25 g/L Deltamethrin and 793 g/L Solvent-Solvesso Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl Insecticide, 100 mL/bottle, content-350 g/L imidacloprid in the form of suspension concentrate Eungicide, 1 kg/box, 80 WG, active, 10 box	2023-03-0599	HILLPEZ	, , , , , , , , , , , , , , , , , , , ,	2	bag	
2023-03-0599 HILLPEZ content-500 g/L Phenthoate and 426 g/L Solvent-Xylene Insecticide, 1 L/bottle, 25 EC, content-25 g/L Deltamethrin and 793 g/L Solvent-Solvesso Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl Insecticide, 100 mL/bottle, content-350 g/L imidacloprid in the form of suspension concentrate Eungicide, 1 kg/box, 80 WG, active, 10 box			Laguna, 1st week of October 2025			
2023-03-0599 HILLPEZ content-25 g/L Deltamethrin and 793 g/L Solvent-Solvesso 2023-03-0599 HILLPEZ Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl Insecticide, 100 mL/bottle, content-350 g/L imidacloprid in the form of suspension concentrate Eungicide, 1 kg/box, 80 WG, active 10 box	2023-03-0599	HILLPEZ	content-500 g/L Phenthoate and	10	bottle	
2023-03-0599 HILLPEZ content-850 g/kg of Carbaryl Insecticide, 100 mL/bottle, content-350 g/L imidacloprid in the form of suspension concentrate Eungicide, 1 kg/box, 80 WG, active 10 box	2023-03-0599	HILLPEZ	content-25 g/L Deltamethrin and	10	bottle	
2023-03-0599 HILLPEZ content-350 g/L imidacloprid in the form of suspension concentrate Fungicide, 1 kg/box, 80 WG, active 10 box	2023-03-0599	HILLPEZ	_	10	box	
2023-03-0599 HILLPEZ Fungicide, 1 kg/box, 80 WG, active 10 box	2023-03-0599	HILLPEZ	content-350 g/L imidacloprid in the form of suspension	15	bottle	
	2023-03-0599	HILLPEZ	Fungicide, 1 kg/box, 80 WG, active	10	box	

PR NO	END USER	DESCRIPTION	QTY	UNIT	Statement of Compliance
		ingredient- 800 g/kg tetramethylthiuram disulfide, inert ingredients-200 g/kg			
2023-03-0599	HILLPEZ	Fungicide, 1 kg/pack, broad spectrum protectant fungicide, active ingredient- 800 g/kg mancozeb	10	pack	
2023-03-0599	HILLPEZ	Fungicide, 1 kg/box, 50WP, composition- 575 g/kg Cuprous oxide, 313 g/kg fillers & 112 g/kg suspending agents	10	box	
2023-03-0599	HILLPEZ	Fungicide, 1 kg/pack, 80 WP, blue multi-site fungicide, active ingredient-800 g/kg mancozeb, inert (carrier)-200 g/kg	10	pack	
		Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of May, 2025			
2023-03-0599	HILLPEZ	Tissue cultured banana saba- at least with 6 matured leaves	300	рс	
2023-03-0599	HILLPEZ	Cacao criollo- 2-3 ft height	1000	рс	
2023-03-0599	HILLPEZ	Coffee liberica 1-2 ft height	1000	рс	
2023-03-0599	HILLPEZ	Coconut dwarf hybrid- 2-3 ft height	300	рс	
2023-03-0599	HILLPEZ	Iron bamboo- 2-3 ft height	100	рс	
		Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of May, 2025			
Important No	ote (LOT				
For inorganic for offered items in products: https://fpa.da.g	nust be gen ov.ph/reso				
A copy of the c during inspecti		must be presented during postqualifi	cation ar	ıa	

Lot 1: COMPOSTS, ORGANIC FERTILIZERS, PESTICIDES AND AMELIORANTS

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
COMPOSTS, OF	RGANIC FERT	TILIZERS, PESTICIDES AND AMELIORANTS	<u> </u>			
2025-01-0203	SWRRD	Vermicompost/Vermicast, 40kg/bag	75	bag	680.00	51,000.00
2025-01-0203	SWRRD	Organic pesticide, neem oil, FPA/BAFS registered 1L	60	bot	1,500.00	90,000.00
2025-01-0203	SWRRD	Carbonized rice hull, 15kg/bag	75	bag	250.00	18,750.00
		Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon				
2025-03-0688	SWRRD	Zeolite 25 kg	1	bag	4,000.00	4,000.00
		Place of Delivery: BSWM, Quezon City Delivery Date: June 2025				
2025-03-0688	SWRRD	Vermicompost/Vermicast, 40kg/bag	4	bag	680.00	2,720.00
	SWRRD	Carbonized rice hull, 15kg/bag	4	bag	300.00	1,200.00
		Place of Delivery: BSWM, Quezon City Delivery Date: June 2025				`
2025-01-0202	LUPEZ	Certified Organic Fertlizer (COF); (50kg/bag)	30	bags	440.00	13,200.00
2025-01-0202	LUPEZ	Compost Enhancer	10	packs	300.00	3,000.00
		Date of Delivery: 2nd Week of May 2025				
		Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M				
		CAR				
		CORN				
2025-03-0690	NSHP	Compost or Organic Fertilizer at least 40kgs/bag	100	bags	550.00	55,000.00
		RICE				
2025-03-0690	NSHP	Compost or Organic Fertilizer at least 40kgs/bag	1000	bags	550.00	550,000.00
		Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025				
		REGION I				
		CORN				
]	Comv				

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
		Place of Delivery: Aringay, La Union Delivery Date: On or before November 28, 2025		•		
		REGION III				
		CORN				
		Compost or Organic Fertilizer - at least 40kgs/bag				
2025-03-0690	NSHP	Place of Delivery: Mexico, Pampanga Delivery Date: On or before November 28, 2025	100	bags	550.00	55,000.00
		RICE				
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	550.00	1,100,000.00
		Place of Delivery: Guimba, Nueva Ecija Delivery Date: On or before November 28, 2025		-		
		REGION IV-A				
		CORN				
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
		Place of Delivery: Tayabas, Quezon Delivery Date: On or before November 28, 2025				
		RICE				
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	2000	bags	550.00	1,100,000.00
		Place of Delivery: Sta. Maria, Laguna Delivery Date: On or before November 28, 2025				
		REGION IV-B				
		CORN				
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
		Place of Delivery: Abra De Ilog, Occidental Mindoro Delivery Date: On or before November 28, 2025				
		REGION V				
		CORN				
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	480	bags	550.00	264,000.00

		QTY	UNIT	UNIT COST	TOTAL COST
	Place of Delivery: Cataingan, Masbate Delivery Date: On or before November 28, 2025				
	RICE				
NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	1000	bags	550.00	550,000.00
	Place of Delivery: Polangui, Albay Delivery Date: On or before November 28, 2025				
	REGION IX				
	CORN				
NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
	Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025				
	REGION X (CORN)				
NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
	Place of Delivery:Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025				
NSHP	- at least 40kgs/bag	2000	bags	550.00	1,100,000.00
	Place of Delivery: Kapalong, Davao Del Norte (1000 bags), Sto. Tomas, Davao Del Norte (1,000 bags) Delivery Date: On or before November 28, 2025				
	2-0.01.101.42.051				
NSHP	- at least 40kgs/bag	2000	bags	550.00	1,100,000.00
	Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025				
	REGION XIII (CORN)				
NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
	Place of Delivery: Esperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025				
	NSHP NSHP	Delivery Date: On or before November 28, 2025 RICE Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Polangui, Albay Delivery Date: On or before November 28, 2025 REGION IX CORN Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025 REGION X (CORN) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery:Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025 REGION XI (RICE) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Kapalong, Davao Del Norte (1000 bags), Sto. Tomas, Davao Del Norte (1,000 bags) Delivery Date: On or before November 28, 2025 REGION XII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025 REGION XIII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025 REGION XIII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Esperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025	RICE NSHP Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025 REGION IX Compost or Organic Fertilizer - at least 40kgs/bag REGION IX CORN Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025 REGION X (CORN) Compost or Organic Fertilizer - at least 40kgs/bag REGION X (CORN) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025 REGION XI (RICE) REGION XI (RICE) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Kapalong, Davao Del Norte (1000 bags), Sto. Tomas, Davao Del Norte (1,000 bags), Delivery Date: On or before November 28, 2025 REGION XII (RICE) REGION XII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025 REGION XIII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025 REGION XIII (CORN) Compost or Organic Fertilizer - at least 40kgs/bag Place of Delivery: Esperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025	Delivery Date: On or before November 28, 2025 RICE Compost or Organic Fertilizer - at least 40kgs/bag 1000 bags Place of Delivery: Polangui, Albay Delivery Date: On or before November 28, 2025 REGION IX CORN Compost or Organic Fertilizer - at least 40kgs/bag 100 bags Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025 REGION X (CORN) Compost or Organic Fertilizer - at least 40kgs/bag 100 bags REGION X (CORN) Compost or Organic Fertilizer - at least 40kgs/bag 100 bags Place of Delivery: Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025 REGION XI (RICE) REGION XI (RICE) Compost or Organic Fertilizer - at least 40kgs/bag 2000 bags Place of Delivery: Kapalong, Davao Del Norte (1,000 bags), Sto. Tomas, Davao Del Norte (1,000 bags), Delivery Date: On or before November 28, 2025 REGION XII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag 2000 bags Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025 REGION XII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag 2000 bags REGION XII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag 1000 bags Place of Delivery: Lambayong, Sultan Kudarat Delivery Date: On or before November 28, 2025	Delivery Date: On or before November 28, 2025 RICE STATE Compost or Organic Fertilizer - at least 40kgs/bag 1000 bags 550.00 Place of Delivery: Polangui, Albay Delivery Date: On or before November 28, 2025 REGION IX CORN Compost or Organic Fertilizer - at least 40kgs/bag 100 bags 550.00 Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025 REGION X (CORN) REGION X (CORN) REGION X (CORN) REGION X (CORN) Place of Delivery: Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025 REGION X (RICE) Compost or Organic Fertilizer - at least 40kgs/bag 2000 bags 550.00 Place of Delivery: Kapalong, Davao Del Norte (1,000 bags). Sto. Tomas, Davao Del Norte (1,000 bags). Sto. Tomas, Davao Del Norte (1,000 bags). Delivery Date: On or before November 28, 2025 REGION XII (RICE) Compost or Organic Fertilizer - at least 40kgs/bag 2000 bags 550.00 Place of Delivery: Kapalong, Davao Del Norte (1,000 bags). Sto. Tomas, Davao Del Norte

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
		BARMM (CORN)				
2025-03-0690	NSHP	Compost or Organic Fertilizer - at least 40kgs/bag	100	bags	550.00	55,000.00
		Place of Delivery:Datu Hoffer, Maguindanao del Sur Delivery Date: On or before November 28, 2025				
Important Note						
For Compost	or Organic I	Fertilizer items indicated in Lot 1:				

At least 5% of the total quantity should be produced by beneficiaries of a Compost Facility for Biodegradable Waste (CFBW) and a Small Scale Composting Facility (SSCF).

A list of beneficiaries will be provided by BSWM; Compost fertilizers shall undergo sample testing upon delivery by the winning bidder, and the results of the analysis will be checked during inspection. Testing will be shouldered by NSHP through the Regional Soils Laboratories and/or the Bureau of Soils and Water management;

A certification (certification, agreement or any equivalent document) verifying that the compost fertilizer originates from CFBW and SSCF beneficiaries must be presented during inspection.

The remaining quantity shall consist of either organic fertilizer duly certified by BAFS or fortified organic fertilizers certified by FPA. A copy of the certificates must be presented during post qualification and inspection.

By virtue of the Organic Agriculture Law, all soil amendments with organic claims (e.g. "Organic Fertilizer") must be DA-BAFPS registered. Soil amendments with organic claims can only be registered by DA-BAFPS if it has passed certification by third-party officially accredited Organic Certifying Bodies (OCBs).

List of local OCBs: https://bafs.da.gov.ph/index.php/official-list-of-accredited-third-party-organic-certifying-bodies/

List of international OCBs: https://directory.ifoam.bio/certifiers

List of registered organic soil amendment products:

https://bafs.da.gov.ph/index.php/registered-organic-soil-amendment-products/

List of local organic soil amendment producers: https://bafs.da.gov.ph/index.php/registered-organic-soil-amendment-producers/

LOT 2: BIOFERTILIZERS AND INORGANIC FERTILIZERS

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST			
BIOFERTILIZERS	SIOFERTILIZERS AND INORGANIC FERTILIZERS								
2025-01-0203	SWRRD	Muriate of Potash (0-0-60), 50kg/bag	120	bag	2,163.00	259,560.00			
2025-01-0203	SWRRD	Ammonium sulfate (21-0-0), 50 kg/bag	90	bag	1,500.00	135,000.00			
2025-01-0203	SWRRD	Agricultural grade salt fertilizer	45	bag	820.00	36,900.00			
2025-01-0203	SWRRD	Ammonium phosphate (16-20-0), 50 kg/bag	15	bag	1,683.00	25,245.00			
2025-01-0203	SWRRD	Biofertilizer, mycorrhizal inoculant, Locally- produced, FPA/BAFS registered, 1kg/pack, Expiration date not earlier than January 2026	30	pack	300.00	9,000.00			
		Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon							
2025-01-0202	LUPEZ	Complete (14-14-14), 50kgs/bag	28	bags	1,800.00	50,400.00			

2025-01-0202	LUPEZ	Urea (46-0-0), 50kgs/bag, Granular	10	bags	1,860.00	18,600.00
2025-01-0202	LUPEZ	Muriate of Potash (0-0-60), 50kg/bag	10	bags	3,096.00	30,960.00
2025-01-0202	LUPEZ	Biofertilizer (Mychorriza Fungi)	50	packs	150.00	7,500.00
2025-01-0202	LUPEZ	Biofertilizer (Nitrogen Fixing Bacteria)	20	packs	100.00	2,000.00
2025-01-0202	LUPEZ	Calicum Nitrate Fertilizer	50	kg	150.00	7,500.00
		Date of Delivery: 2nd Week of May 2025				
		Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M				
		BARMM (RICE)				
2025-03-0566	LSD	Complete (14-14-14), 50kgs/bag	816	bags	1,671.00	1,363,536.00
2025-03-0566	LSD	Urea (46-0-0), 50kgs/bag, Granular	800	bags	1,800.00	1,440,000.00
2025-03-0566	LSD	Muriate of Potash (0-0-60), 50kg/bag	200	bags	1,750.00	350,000.00
2025-03-0566	LSD	Ammonium phosphate (16-20-0), 50 kg/bag	900	bags	1,400.00	1,260,000.00
2025-03-0566	LSD	Urea (46-0-0), 50 kg/ bag	276	bags	1,800.00	496,800.00
2025-03-0566	LSD	Muriate of Potash (0-0-60), 50 kg/ bag	300	bags	1,750.00	525,000.00
		Place of Delivery: Shariff Saydona Mustapha, Maguindanao del Norte Delivery Date: On or before November 28, 2025				
		REGION II (CORN)				
2025-03-0566	LSD	Ammonium phosphate (16-20-0), 50 kg/bag	450	bags	1,470.00	661,500.00
2025-03-0566	LSD	Urea (46-0-0), 50 kg/ bag	138	bags	1,629.00	224,802.00
2025-03-0566	LSD	Muriate of Potash (0-0-60), 50 kg/ bag	150	bags	2,370.00	355,500.00
		Place of Delivery: Luna, Isabela Delivery Date: On or before November 28, 2025				
Important No	ote		_			

For inorganic fertilizers/biofertilizers/pesticides;

offered items must be genuine and included in the latest list of FPA registered products:

https://fpa.da.gov.ph/resources/reports/registered-products/

A copy of the certificate/s must be presented during postqualification and during inspection.

LOT 3: SEEDS, SEEDLINGS AND OTHER PLANTING MATERIALS

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
SEEDS, SEEDLINGS AND OTHER PLANTING MATERIALS						
2025-01-0203		Pole sitao seeds, Pantastiko variety, 1 kg/pack	2	pack	3,300.00	6,600.00
2025-01-0203	SWRRD	Squash seeds, Suprema variety, 50g/can	40	can	1,600.00	64,000.00

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
2025-01-0203	SWRRD	Okra seeds, Smooth Green variety, 100g/can	5	can	300.00	1,500.00
2025-01-0203	SWRRD	Chili pepper, Django variety, 25g/can	20	can	2,600.00	52,000.00
2025-01-0203	SWRRD	Eggplant seeds, Mucho variety, 50g/can	10	can	1,200.00	12,000.00
2025-01-0203	SWRRD	Ampalaya seeds, Mestisa variety, 50g/can	20	can	2,300.00	46,000.00
2025-01-0203	SWRRD	Banana seedlings, Cardaba	30	рс	150.00	4,500.00
2025-01-0203	SWRRD	Papaya seedlings, Red lady	60	рс	260.00	15,600.00
2025-01-0203	SWRRD	Cacao tree seedlings	60	рс	175.00	10,500.00
2025-01-0203	SWRRD	Citrus tree seedlings	360	рс	175.00	63,000.00
2025-01-0203	SWRRD	Guyabano tree seedlings	30	рс	175.00	5,250.00
2025-01-0203	SWRRD	Lanzones tree seedlings	60	рс	175.00	10,500.00
2025-01-0203	SWRRD	Rambutan tree seedlings	30	рс	175.00	5,250.00
2025-01-0203	SWRRD	Calamansi tree seedlings	210	рс	175.00	36,750.00
		Delivery Date: May 3rd week 2025 Delivery Place: Brgy. Cabatang, Tiaong, Quezon				
		Note: Fruit tree seedlings, in 9x13" seedling bag, 2-3 ft ht., stem diameter > 1cm				
2025-03-0688	SWRRD	Citronella Planting Material	25	рс	100.00	2,500.00
2025-03-0688	SWRRD	Rinorea niccolifera planting material	10	рс	950.00	9,500.00
		Place of Delivery: BSWM, Quezon City Delivery Date: June 2025				
2025-02-0240	SWRRD	Garlic cloves, No.1 -planting material -free from diseases and mechanical damage -fully developed & mature bubls	4720	kg	350.00	1,652,000.00
		Delivery date: 2nd week of October, 2025. Delivery Place: MMSU Batac, Ilocos Norte (400kg); Brgy. Susugaen, Pasuquin, Ilocos Norte (The rest).				
2025-01-0202	LUPEZ	vegetable seedlings (hot pepper) 128 cells per tray, seedlings 28-30 day old	80	trays	220.00	17,600.00
2025-01-0202	LUPEZ	vegetable seedlings (eggplant) 128 cells per tray, seedlings 28-30 day old	80	trays	220.00	17,600.00
		Date of Delivery: 2nd Week of May 2025				
		Place of Delivery: BSWM-NSWRRDC LU PEZ, San Ildefonso, Bulacan Monday-Friday Only 8:00 A.M to 5:00 P.M				
		BARMM				
		DAIMAIIAI				

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
		RICE				
2025-03-0566	LSD	Hybrid Rice Seeds, 15 kgs/bag, high-yielding variety suitable for the region	200	bags	7,500.00	1,500,000.00
		Place of Delivery: Shariff Saydona Mustapha, Maguindanao del Sur Delivery Date: On or before November 28, 2025				
		CORN				
2025-03-0566	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	200	bags	9,900.00	1,980,000.00
		Place of Delivery:Datu Hoffer, Maguindanao del Sur Delivery Date: On or before November 28, 2025				
		REGION II				
		CORN				
2025-03-0566	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	300	bags	9,900.00	2,970,000.00
		Place of Delivery: Luna, Isabela Delivery Date: On or before November 28, 2025				
		CAR				
2025-03-0566	LSD	Seeds, corn, yellow, at least 9kgs/bag Variety: DK 8282s	180	bags	9,900.00	1,782,000.00
		Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025				
		CAR (CORN)				
2025-03-0690	LSD	CAR (CORN) Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 8282s	20	bags	9,900.00	198,000.00
		Place of Delivery: Tabuk, Kalinga Delivery Date: On or before November 28, 2025				
		REGION I				
		CORN				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 6919s	170	bags	9,900.00	1,683,000.00
		Place of Delivery: Santa Cruz, Ilocos Sur(70 bags) Aringay, La Union (100 bags) Delivery Date: On or before November 28, 2025				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Variety: DK 6919s	30	bags	9,900.00	297,000.00

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
		Place of Delivery: Aringay, La Union Delivery Date: On or before November 28, 2025				
		REGION III (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: NK6410 VIP	200	bags	9,900.00	1,980,000.00
		Place of Delivery: Moncada, Tarlac (50 bags), Concepcion, Tarlac (50 bags), Mexico, Pampanga (100 bags) Delivery Date: On or before November 28, 2025				
		REGION IV-A (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: NK6410 VIP	200	bags	9,900.00	1,980,000.00
		Place of Delivery: Tayabas, Quezon Delivery Date: On or before November 28, 2025				
		REGION IV-B (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	200	bags	9,900.00	1,980,000.00
		Place of Delivery: Abra De Ilog, Occidental Mindoro Delivery Date: On or before November 28, 2025				
		REGION VI (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8282s	180	bags	9,900.00	1,800,000.00
		Place of Delivery: Tapaz, Capiz Delivery Date: On or before November 28, 2025				
		REGION IX (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8131S	200	bags	9,900.00	1,980,000.00
		Place of Delivery: Bayog, Zamboanga Del Sur Delivery Date: On or before November 28, 2025				
		REGION X (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8131S	200	bags	9,900.00	1,980,000.00
		Place of Delivery:Manolo Fortich, Bukidnon Delivery Date: On or before November 28, 2025				

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
		REGION XI (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	180	bags	9,900.00	1,782,000.00
		Place of Delivery: Kapalong, Davao Del Norte Delivery Date: On or before November 28, 2025				
		REGION XII (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: DK 8899S	180	bags	9,900.00	1,782,000.00
		Place of Delivery: Bagumbayan, Sultan Kudarat Delivery Date: On or before November 28, 2025				
		REGION XIII (CORN)				
2025-03-0690	LSD	Hybrid Seeds, corn, yellow, at least 9kgs/bag Preferred Variety: P3585YHR	200	bags	9,900.00	1,980,000.00
		Place of Delivery: Ezperanza, Agusan Del Sur Delivery Date: On or before November 28, 2025				

LOT 4: VARIOUS AGRI INPUTS AND SUPPLIES FOR NSWRRDC HILIPEZ, TANAY, RIZAL

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
2023-03-0599	HILLPEZ	Chicken Manure, dried, pure at least 40 kg/sack	90	sack	400.00	36,000.00
		Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of May, 2025				
2023-03-0599	HILLPEZ	Chicken Manure, dried, pure at least 40 kg/sack	225	sack	400.00	90,000.00
2023-03-0599	HILLPEZ	Urea (46-0-0), 50 kg/bag	5	bag	3,500.00	17,500.00
2023-03-0599	HILLPEZ	Complete (14-14-14), 50 kg/bag	10	bag	3,200.00	32,000.00
2023-03-0599	HILLPEZ	Muriate of Potash (0-0-60), 50kg/bag	3	bag	3,200.00	9,600.00
		Delivery Requirement: Majayjay, Laguna, 1st week of May 2025 (1st cropping)				
2023-03-0599	HILLPEZ	Chicken Manure, dried, pure at least 40 kg/sack	225	sack	400.00	90,000.00
2023-03-0599	HILLPEZ	Urea (46-0-0), 50 kg/bag	5	bag	3,500.00	17,500.00
2023-03-0599	HILLPEZ	Complete (14-14-14), 50 kg/bag	10	bag	3,200.00	32,000.00
2023-03-0599	HILLPEZ	Muriate of Potash (0-0-60), 50kg/bag	2	bag	3,200.00	6,400.00
		Delivery Requirement: Majayjay, Laguna, 1st week of October 2025 (2nd cropping)				
2023-03-0599	HILLPEZ	Insecticide, 1 L/bottle, EC500, content-500 g/L Phenthoate and 426 g/L Solvent-Xylene	10	bottle	1,400.00	14,000.00
2023-03-0599	HILLPEZ	Insecticide, 1 L/bottle, 25 EC, content-25 g/L Deltamethrin and 793 g/L Solvent-Solvesso	10	bottle	1,400.00	14,000.00
2023-03-0599	HILLPEZ	Insecticide, 1 kg/box, WP 85, content-850 g/kg of Carbaryl	10	box	2,100.00	21,000.00
2023-03-0599	HILLPEZ	Insecticide, 100 mL/bottle, content-350 g/L imidacloprid in the form of suspension concentrate	15	bottle	1,500.00	22,500.00
2023-03-0599	HILLPEZ	Fungicide, 1 kg/box, 80 WG, active	10	box	1,700.00	17,000.00

PR NO	END USER	DESCRIPTION	QTY	UNIT	UNIT COST	TOTAL COST
		ingredient- 800 g/kg tetramethylthiuram disulfide, inert ingredients-200 g/kg				
2023-03-0599	HILLPEZ	Fungicide, 1 kg/pack, broad spectrum protectant fungicide, active ingredient- 800 g/kg mancozeb	10	pack	1,200.00	12,000.00
2023-03-0599	HILLPEZ	Fungicide, 1 kg/box, 50WP, composition- 575 g/kg Cuprous oxide, 313 g/kg fillers & 112 g/kg suspending agents	10	box	1,800.00	18,000.00
2023-03-0599	HILLPEZ	Fungicide, 1 kg/pack, 80 WP, blue multi-site fungicide, active ingredient-800 g/kg mancozeb, inert (carrier)-200 g/kg	10	pack	1,300.00	13,000.00
		Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of May, 2025				
2023-03-0599	HILLPEZ	Tissue cultured banana saba- at least with 6 matured leaves	300	рс	130.00	39,000.00
2023-03-0599	HILLPEZ	Cacao criollo- 2-3 ft height	1000	рс	140.00	140,000.00
2023-03-0599	HILLPEZ	Coffee liberica 1-2 ft height	1000	рс	140.00	140,000.00
2023-03-0599	HILLPEZ	Coconut dwarf hybrid- 2-3 ft height	300	рс	300.00	90,000.00
2023-03-0599	HILLPEZ	Iron bamboo- 2-3 ft height	100	рс	400.00	40,000.00
		Delivery Requirement: Km. 53 Brgy. Cuyambay, Tanay, Rizal, 2nd week of May, 2025				

Important Note (LOT 4)

For inorganic fertilizers/biofertilizers/pesticides;

offered items must be genuine and included in the latest list of FPA registered products:

https://fpa.da.gov.ph/resources/reports/registered-products/

A copy of the certificate/s must be presented during postqualification and during inspection.

Page **25** of **25**